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REMBUYE YA T4 IR—F m3 1.0 1t/m3
REMBULNE BEREZHIFR—FK m3 7.1 1t/m3
REMBUNS B T AR b EFEAR m3 4.9 1t/m3

FEMLDE




FERLDE EVIES
i I e Hir | #E Efff w=

HKEMBULNE R AR =y 1.0
REMBLNE 15 BRI = 1.0 BIHKEAE 2
SRl %9797 t 59.7

(BRRMHIE)
REMBLNE EECT m3 1.0 1.13t/m3
HREMBLNE BE75 m3 3.76 0.35t/m3
HREMBLNE HF 2 m3 0.07 1t/m3
HREMBULNE HL 4 m3 0.20 1.48t/m3

(B I=)
HREMBLNE SE<CT m3 11.50 1.13t/m3
HKEMBULNE 52 m3 7.5 0.2t/m3
HREMBILNE TS m3 2.0 0.35t/m3
REMBLNE AL +48 m3 0.2 1.48t/m3
AE7 O EINT S AHEES 20.0kW (AC-1) ERBEEST B 1.0
A7 0 EINTSE AHIEER 8.0KW (AC-3.4) SEMBET B 2.0
A7 A ENTE A#EES 5.OKW (AC-2.5.6) EW#ET | B 3.0
A7 0 vENTIE AHIEER 2.8kW (AC-T) EMBEEE = 1.0

IINEE
)
REMUNE




